P1 ez

= 3000 PSI &7

= BTN/ RE R, TEW

m 3000 PSI Series
m Commonly available Carbon steel/galvanized, stainless steel

Flange accessories / ’;fé Iﬁ‘.”q:

FHS SAE

SEiE=hR

Split flange piece

E=ZRS(P1) =K R~ g2 EARE s P mgmha
SAE ISO D1 D2 L1 L2 L3 L4 kg/100 Applicable bolts Type Product Code
(in) (DN) (A%) HORE
1/2 13 31 9 62 13 381 87 7.0 M8x25 FHS32 CF8000808
3/4 19 389 11 62 14 476 111 9.0 M10x30 FHS33 CF8001212
1 25 452 11 75 16 524 131 110 M10x30 FHS34 CF8001616
11/4 32 516 12,5 75 16 587 151 15.0 M12x35 FHS35 CF8002020
112 38 6Ll 13 75 16 699 179 230 M12x35 FHS36 CF8002424
2 51 723 145 9 16 778 214 25.0 M14x35 FHS38 CF8003232
212 64 849 13 9 19 89 254 37.0 M12x40 FHS310 CF8004040
3 76 1024 17 9 22 1064 31 65.0 M16x45 FHS312 CF8004848
312 89 115 17 107 22 1207 349 75.0 M16x45 FHS314 CF8005656
4 102 1278 17 107 25 1302 389 84.0 M16x50 FHS316 CF8006464
5 127 1532 17 107 28 1524 46 1250 M16x50 FHS320 CF8008080
m 6000 PSI &% m 6000 PSI Series
n EHEERN/ REES, TEW = Commonly available Carbon steel/galvanized, stainless steel
E=ZRS(P1) =K R~ =S &R s P mgmha
SAE ISO D1 D2 L1 L2 L3 L4 kg/100 Applicable bolts Type Product Code
(in) (DN) (2381) HORE
1/2 13 325 9 72 16 405 91 8.0 M8x30 FHS62 CF8010808
3/4 19 4 11 83 19 508 119 180 M10x35 FHS63 CF8011212
1 25 484 13 9 24 572 139 27.0 M12x45 FHS64 CF8011616
11/4 32 54.8 15 98 27 666 159 27.0 M14x50 FHS65 CF8012020
112 38 64.3 17 121 30 793 183 400 M16x55 FHS66 CF8012424
2 51 803 2 121 37 9%8 222 400 M20x65 FHS68 CF8013232
212 64 108 25 20 45 1238 294 68.0 M24x75 FHS610 CF8014040
3 76 1325 315 25 55 1524 357 105.0 M30x90 FHS612 CF8014848

P.252



